000000
(000000)

000001
(000005)

000002
(000007)

000003
(000011)

000004
(000015)

000005
(000017)

[Program Name LONG_DELAY_TIMER_COUNTER]

[Section Name : Section1]

I: 0.00 ;001 -« TO000 Q: 100.00 TIM
=] { 4+ = I
OFF ON TIMER-1 OUTPUT 000

= #6500

. To0O 20.00

| | £

1 T N
TIMER-1

20.00 CNT

_{ ; H
AUX 000
#5
Cooo Q: 100.00
| -+
CNT-1 OUTPUT
CO000 TOO1 Q: 100.00
| |
I |
CNT-1 TIMER-2
Q: 100.00
QUTPUT
Q: 100.00 TIM

| |

1T
QUTPUT 001

#10
END
(001)

[OP1]
TIMER-1

<T0000(bit)>

b02 a05
[OP2]
AUX

<20.00>
a07

[OP1)
CNT-1

<C0000(bit)>

a08 all
[OP2]

OUTPUT
<100.00>
b03 b09 al2 al5

[OP1]

N TIMER-2
<T0001(bit)>

b13
[OP2]




